Dear Student,

I am an Angry Bird. My eggs have been stolen by some Green Pigs. I need your help in seeking my revenge.  Some of my enemies have defenses in place, so that if I fly too high, I will not be able to destroy them. With each flight, the highest point I reach is called my vertex and it is related to the parabolic path of my flight (so the engineers say).  Can you help me determine the function of this flight path so that I can better understand how to adjust my height?
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Thanks,

Angry Bird

P.S.  The engineers gave me this hint….maybe it can help you?
[image: image2.png]Vertex = (b,k)












Name:
Homework Problem

A man decides to fire a rifle horizontally at a bull’s-eye. The speed of the bullet as it leaves the barrel of the gun is 890 m/s. He’s new to the ideas of projectile motion so he doesn’t aim high (he aims level with the ground) and the bullet strikes the target 1.7 cm below the center of the bull’s-eye.  
What is the horizontal distance between the rifle and the bull’ s-eye? 
Draw a picture and show your work!
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Below are six potential paths I could take. 
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